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p(t) = (x(9, y(1), 2 1))

p(1) t

p(1)

t(uyz0, "u.

S
P(s) = p(t(9)) .

F=F(Y)
F(1)

| p(Y) | =
PY = (X (1) -

p(t) = (X' (1)),

3

Zl X (1)° .
w(t) = |p(t)] .

cw(t)2 0,"t (ab .

t=t(u), u

s=J' taw(r)ct .

s(t) =w(t)=[p(H)] .

p(t) = (X (1),1< i< 3,a< < b.

(¢, d), a=t(c), b= t(d),

s= §(1)
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11
p=p(1) , s p(s) =
(x(9.Y(9) .
B=p(9=(x(9.Y(9),
B(9 = p() L= pty | py)] .
ds
p(9]=1. T=p, T 0 p(9

T=T(s) = (X(9.,Y(9)

N=N(9 =(-Y (9. x(9), {T. N}
{TN} {p(s); TN} F- ( 11).
N T

P(s)

11

|TP=1 T- T=0, T N

k= k(9
T = kN . N = - KT. k

P p(9



T 0O k T
= (11.1)
N -k 0O N
Frenet F- :
k=0, T=0= N, a B X (9 =a,
y (s) =B,
X(s) =as+ a,
y(s) =B s+ c .
G,C
x(t) =rcost,y(t)=r sint,r>0 : p(t)
r : w(t)=r, s=rt.

X(9 = rcos(sr),
y(s) = rsin(g r) .
X(s)=-sin(sr),y(s) =cos(gr)
T(s) = (- sin(gr),cos(gr)),
N(s) = (- cos(gr),sin(sr)) .

T(s)zirN(s) k(s)E—%, K

( 12).

12



11

T(s9=0d(9 : k
1
K P
( )
o(2) 2x 2 . A 0O(2),a R,p=Ap+a,

T=pP = AT, N= AN, k= k; : p(s) p(9
k(s) =k(s), 9 T(s) =

AT(s) .
a=p(s) - Ap(s),

p(s) = Ap(s) + a.

N(s) = AN(s) .

S(I AT =TI+ AN - NIY (9
= AT -T,AT -T + AN - N,AN - N
= KAT-T,AN-N -k AN - NAT-T
= 0,

T=AT, N= AN, p=Ap+a.
1 p(s)  p(9

p(s)  p(9) :
X= acost, y= bsint (a> b> 0)

w(t)= dsin"t+Bcos’t, S

dt _ _1
ds  w(t)’

(7))



dp dt _ _1 |
T4 dt- -~ t, bcost) .
dt ds_ w(pl &St teosy

N= N(t) = ﬁ(- beost, - asint) .

_ dt _
T—Td—kN

77]

ab
w(t)’

p=p(s) =(x(9),y(9))
¢=0(9 T(9 x

k(t) =

1.3),
T(s) = (cosp,sinp), N(s) = (- sing,cosp) .

i
N(s)

p(s)

1(s)

@)
=

13

T(9 = do dsN(9),
Frenet k=dg ds. kt O .
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@(= co
ds ¥
dy _ 4
ds SIng,

x(9) j’ coscpdsj' %dp,

i SinQ.
y(9 :I sinpds 5 1y .

x=Xx(t),y=y(V,

x(Oy(t) - "x(t)y(t)
w(t)’

(r8) r=F(),a<0 < b,

k(1) =

L
2

I:[m(p)z] ®,



r+2(F) - rF

k = .
[P+ (F)]>
3. X -y =1
_ X
4 . a>0, y—acosha
S. p(t)=(x(9),y(H)) k(1) 0.
{T, N} F-
_ 1
(ot p(t) t
6 .
F(x,y) =0
( dF(x,y)# 0) .
Fux Fy - 2Fy FxFy + Fyy Fi
k( X, = 2 _
(X,y) (F o+ B3
7. p(Y)=(x(),y(t)),t (-o,+on)
(0,0) .
lim | p(y 1= lim | p(t) = o .
b (-oo,+oo)
| p(o) [< | p(t) [,t (-o0,+00).
12 Frenet
1 pP=p(9(s ), p
g=9q(u),u=¢g u=s q ),

a(s) = p(s) + a(9T(9 + a(gN(9, " s,



1 2 Frenet 9

dg _ P(s)+aT+aT+ &N+ aN .

ds
Frenet
gl—g: (- ke + 1) T+ (ka + &) N.
% = & - ke + 1,
%—&; = ka + &,
q(s) q Frenet {p(9); T, N}
: {di,d} q Frenet {p(9); T, N}
Cesaro
& - ke +1=0,
ks + & = 0.
q(s)= const  Frenet {p(s); T, N}
2 P=p(9 : K(s)=0
p(s) : p(0) p(L) P
; p(s)# p(s), "0< s< s <L, p
P ;
p (oval curve)
’ p
y =y (9 (s ) Y
, a>0, y

ya(s) =y(9 - aN(s) .
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L(ya) = L(y) + 2ta,

Aly:) = A(y) + aL(y) +md,
_ k(9
(9 = 1 & (y’
N 'y , AY)

, L(Y)
Kk ya

t

da
ds

ya
t
df ds=1+ ak(s) .

k(s)= 0. k(s) =dg ds

dS{ (1+ ak(9)ds,

J’ yk(s)ds: 21 .

L(ya) = L(y) +J'a k(s)ds= L(y) + 21 a.

{Ya; Ta, Na} ya  Frenet

1 = ¥/
: ds/ | ds

,Na:N.

= (T-aNy [(T-aN)|=T,

dT. _ dTa/dt _
dt = ds/ ds> NV 1+ ak) .

_ k(s)
(9 = 17 k(9 -

a(t)y,t [b,c] . S

A dxdyq :x(t) %¥dt.



1 2 Frenet

11

Alys) = A(y) + aL(y) +mtd .

Frenet :
1( )
Frenet X = - ky,y = kX
[ kds= 0,
‘ prds:j' X kds:j' yds= 0,
[ ykds=0.
; a,bc
I (ax+by+ Kds= 0.
P k(s) :
: ax+ by+ c=0(
(ax+by+ck p ( )
(*) ! K
p 4
sze
k' <0
1.4
(1)

(2)

(*)

14),



12 1

(3)

2 p=p(9 , I 1 k(9 | ds= 2,

1. ; X = acost, y = bsint, aZz b, 4
(a,0),(b,0),(-2a0),(-hb,0).
2. p=p(s),s [0,L]

R : s [0, L]

[\
ok

3. p=p(s),s [0, L]

0< k(9)< C, C .
L> %.
4 . k C([0,1]),
p(s) Kk
5 . ( ODE)

4, x(0) =y(0) =@(0)=0 ODE
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X (s) = cosp(y9),
Yy (9 = sing(s),
®(s) = k(9

6. F- =3

2 2
A B = z AB', A:z Aei Bzz Be
1 1 1
2

R
2 2

AB = AB - AR, A=z Ale Bzz Be .
1 1

F- F-
13

p=p(s) = (x(9,¥(9), 2(9) = (X(9)
O < L :
T(9) = P (9 = (X(9,¥(9.,2(9)
P p(9 , P p(9

3

(9 =1T(91= 3 X (9.

T(s) T(9, k(s) >0, " s,
N(S) = T?(%’) |

B(9 = T(s9)x N(9 .
{p(9: T; N; B} p p(9 Frenet , F-
( 15).



14 1

Z)
N
P(s)
B
19 / 7
X
15
a(s)=T(s),e = N,e =B,
, e
e- g =9i,
S
é& g+e- é=0.
j=2,i=1,2,
0= k+ea- &,
0O=e- &
& e e : T=1(9
&=- ke +1&
T=T1(9 p p(9
0O=e- &
O=1+e- &
I=)=3, 0=6- &;
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: Frenet-Serret (FS):

T' 0 k 0 T
N = -k 0 1t N
B 0 -1 0 B
, P , T=0; :
p T =0, & =0, e
(e- pf =e- =0 e [p= const,
p e- p= const
1 p k>0,
p 1=0.
{e ,e, e} k 1.
X = aost, y= adnt,

z=ht,a>0,b>0 ( 16).
c= a+b, w=c s=ct
X = aCOS_S,y: asm—s,zz k_B’ 16
C C C
e =p = L. asin—S,acos—S,b :
C C c
é1=% - acos—s, - asin—S,O ,
¢ c
a
k=7
C21
e = - cos—s, - sin—S,O ,
C C

e —ax e = bsinf,-bcosf,a
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& = l,sm—s, - icos—S,O = - ke + _E)Es,
C c C
T = o
a+ b
k 1
p k
; k>0, P ?
2 P P
11 1,
k>0 T,
k : T ? :
ODE(FS), p(0)

(T(0),N(0),B(0)) .

1. Bouquet

2

p(s) = p(0) + T(0)s+ k(0) N(0) 2i!+

[- k(0)" T(0) + K (0)N(0) + k(O)t (0)B(0)] fﬁ

2. p= p(t), F-
T=1p | pl,
B=pxpP | pxPpl,
N=Bx T.



p(t) = ( 2t,£,0)

q(t) = (-t t,f),
B A

F=8

A p(t)

13 17
K = J_%D_LT _ (PxP)- P |

w | px P

3. p(1) = ( tcost, tsint, t), Eo

4. p(9=(x(9, .X(9) R (g, .p"1

F- (e},
b =k =0, k>0, j=1, ,n-1.
6= -k-1e.-1 +ke+1 .
5. Cesaro
Cesaro _

6. p(t) = (2t, £, ¢/ 3),

(1) F-

(2) t=0,

(3) .

7. Ap(e): T N B} P p(s)  Frenet
A=1T+ kB,
T = Ax T,
N = Ax N,
B = Ax B.

8.
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q(t),
a(t) = Fp(Y) .

p(t) = (t+ 3sint,2cost, 3t - sint)

q(t) = (acost, asint, ht)

14

p(t) = (3t- £,3f,3t+ ).

Qd'f: 3(1- £,2t,1+ ),

Ip_ g 1t
dt2 ( l!)l
3

db-6(-1,01
dt3 6( 101 )

dp dp _ .
gt g - B+ 20+ ) .

w(t) = 18(1+ £) .

px p=18(-1+ ¢, - 2t,1+ f),

2

| px p|=18 2(1+ t),
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2
_ 1
k=1 31+ )
1 p
1 P k>0,
1/ k
p=p(9
cot =1/ k.
U=cos T+ sin B,
U = (kcos -tsin )N= 0.
Uu R |U|=1
T U

T U = cos ,

k>0, N- U=0.
U=cos T+ sinB.
F-
0= (kos -T1sin )N,
1/ k= cot
& P
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f(g)= p(9 - p.,U,

f(s)s =pPp(s- U=T- U= cos .

f(s) = gos .

p=p(9)

I

T K
K K
p(t) = (cosht, sinht, t)
k.
P( 1) C>0

T=pC,
B=px P (Clpl),
N=p [Pl .

k = 1P| I = (pXxp)- p
’ Clpl®

F- R’

A B = ZslAiBi, A= ZalAiei, B:ZS Be
1

k>0,
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21

R3
AB =AB - AFB - AF,

3 3
A:Zl A'ei,B: Zl B'ei .
F- F- .



Gauss : Ei nstein : Gauss-
Bonnet : ; ;
Yang-Mills
Darboux E Cartan
21
1 R’ Y, :
p V, p R W R U
fo:U >V W,
(1) f ,
(2) "q W,(df)R-R
\
f:
x= x(Uu,d),y= y(u,u),
z= z(u,d),(d,d) W .
(2)
Xd Yz
X2 Y2 Z2
Un 2. (u,d) V p
, p=f (U, U)

(u,u). (u,u)=(uv) .
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\ P =(x,%,2)="%(w)
Te, V( 2 1)
X-% Y-W Z-2

xt(w) wy(w) z(w)|=0,

X2 (W) y2(w) z2(w)

2.1

((x,y,2) - p)- (p*x p?)p, =0,
p=p(u,d)=f(Uu,u).
ToV = spany, {ps,p2},

p=p,i=1,2 , (u V) =(U,u).
1 F: R°R-R ., V={(x,vy,2) R:
F(x,y, z) =0}; vV dF&0 , V
S={(x,y,2) R: X+y+7=1},
(0,0,1) &
1 A (ab= I-R A(t)z0,"t |I.
p(t,v) = A(t) + VA (t),(t,v) IXx R, p
A ( 2 2) .

T, V=spany, { A (1), A (1)} . A



24

N

2.2
A=A(9, s : a>0,
p(s,v) = A(s) + a(N(s)cosv+ B(s)sinv),
N,B A : p
2 :
, A(t), B(1)
B(t)# 0, " t,
p(t,v) = A(t) + B(t),t I,v R.
(%,
%) (M, ¥, %) Z(x-y)z
(x,y,2 (x+dx,y+dy, z+d2 ds,
(d9)® = (dx)* + (dy)* + (d2)* = |dp]°,
dp=% pdu . p=p(1)
L(p) :I ds. (ds)’
P=p(Y) =p(u(t), V(1) vV R 2 ., P(b)
S pu o p)I° = p),p(t) = Zlguu‘ui, gi (p)
PP, gi = Gi .

(ds)® = S gidudu = E(du)® + 2Fdudv + G(dv)® .
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V
3 . p=(rsinu, ( R+ rcosu)cosyv, ( R+ rcosu)sinv),
O<r<R.
g(u) = rsinu
h(u) = R+ rcosu.
p=p = (d,Hcosv, Hsinv),
p =p = (0, - hsinv, hcosv),
E = (rcosu)’ + (rsinu)® = r,
F =0,
G=1If.
p‘ p‘ T T
rank =2, (gi) = (P, p)
(8 P

ToV=span{p,pr}, A TV, A= z gipi,
Al =5 988 .

B= Zl Ni pi d$ (A, B):Z1 gign; .

dé (A B) R AB . dé¢=|dp| g.
(U, u) ; px pz 0,
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2.3
Z (pi- ey dudu = Z bidudu . bi = hi .
H esse
D’p= (pdudu)
e
= L(du)® + 2Mdudv + N(dv)® .
| px p|= EG- F .
EG- F = r(R+ rcosu)” .
W=|px p|= EG-F = r(R+ rcosu),

e=px pd | px po|= h(H, - dgcosv, - dgsinv) w,
puw = (- rsinu, - rcosucosv, - rcosusinv),

pv = pw = (0, rsinusinv, - rsinucosv),

pv = (0, - hcosv, - hsinv),

L=,
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M= 0,
N = ( R+ rcosu)cosu .
p=p(s, V : s . k(9 =
(s e P pP(9
2 p=p(u(9,u(9),

(p,p) = Z biusus .

k(s)= (p.P) . L p=p(u (L), u (1),
t 1.
g—f =y giuu,u = uf ﬂ—f
(1) = (IO,IZO)z (P, P) |
ds 9(pP, P)
dt
ka P
2( Meusnier ) Vv P
P {Po, ¢ [0
Do
e:—j e a=0 (d) e:Zla{pJ
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ad = - z gjlbn,

(d")=(g) ";
2
a = - .Ibi i
Zlg i Pi
Wei ngarton . h=p- e {p.p,e R’
, i
2
pijzzrhpk+bje.
1
Gauss . Pi = Pi, Fikal'jki. Fikj
Christofell
2 2
g= Z gidudu, = Z by du du’,
dp = Z pdu,g = p- pi.h = pi- e
2 2 2
o R K du A
dpl Zl p]dul )’erjdupk'}'zl bjdule,
de = - Z gikbjidujpk .
Einstein ,
p VvV, e=e(p), f(uv)=e- p(uv) . dff, =
@ (dp)s, =0, Hesse
fll f12
H(f) |p0 - f21 f22 Po - (bi)po
(p)>0(<0) ( ), V
& ( )( 2 4); (p)

o ( 25).



4
M(P)>0 M(Py) <0
2 4
1. X +y -72=1
X +y -72=0
2 . f(x,y)=c

ax vy 2= f(x, y+7).
M: g(x,y,2)=c

3. P:.R-R,
P(u,v) = (u+ v,u- v, uv)

M= P(R) z= (X - Y)Y 4

4 .
K 1 « o] ai Gi
T - 4 -
=59 = u u
Fif = gkI Pi, P

5. Pir = P
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I B Wt o
.- -+rijrm|-ri|rmj—bjg bm"b'g bry

u u
Gauss
6. Qi = 6
T
ul - u +r|]bml rllbmj 0
Codazzi-M ainardi
2 2
y=y(9 (s ) \Y , T(9 =Y (9,
B(9 =e(9,N(s) =B(9x T(9, {T,.NB y
: % \Y Tq(9)= N(9,B(9 ,
N(9 B(9 , k(s)= pP(s,e = T(9),B(s)
B,B =0 :B(s)= -1t4N(9 - kT(s) . ki oy
y =y (9 \

k(s) = T(9,N(9 ,

ki(s) = P (9),N(9
T (9 = kN + kne,
N(s) =- kT+14B.
( Frenet-Serret )

T 0 kk ke T
N = -k 0O 1ty N
B - ke T, 0O B
B=¢e Vv ( Vv
) .
y =y (9 k=0
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p(u(9,u(9),
y' (9 = dgs(pu‘s) = pi Ul + pUs

pi = Fip«+ be,
T(s) =y (9 = (s + i (UW) pe + ke,

ki(9 = (U +TH(9uud)pe N(9 .

y =y (9
U+ (U =0, k=1,2,"s [0,L].
T(s) =kN+ ke=ke, P
V.
Yy =y (9 \Y A B ;Y
. A B p(9,
p(9=y(9,.s y 0s =< L. FA,9) =p (9
A,S A (-6,0),0>0,

FOA,0) = A, FQA,L) =B, "A (-35,).

LO) = L(p) -
L()‘):I F)\ _F(QA.9)
_ _F _F _FE _'F
S e IE
2Ry Bm ot R Y
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D, _D
(F) =S (F)

R 2(R)
' (\) =I O |FSS| ds.
= 2FR)=—(F R)-5 Z(F) [Rho=1
L (o) § i —(F ﬁ)‘m R B[, s
= OLE L (R, ds.

F T,V FRlew=0. Rl

QS(FS) -0, "s [0,l],

D n Q n
—S(vs)=0, s [0, L] . S(ys) vy'(s) TV

(U +T 5 (s ubul) pe .
U+l (9ubut = 0, "s [O,L],

S={Q R:|Q=1 A B
F(x,y,2 =0
(ucosv, usinv, av)

A W NP

M: X +y = R,

Yy (t) = (Rcos(at + b), Rsin(at + b),ct+ d) .
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23
A R O<a<ac<a
S ={x R: A'xx =1}.
B=A"
e=| A'x| "Ax.
y(9) =x(9) (s ) S
Atx, % =0,
e S eS-S .
S y(s) =x(9(s )
S T(9 =y (9 . A'x, % =0
T,T 0,
T =-NA"X,
Atx, %' = A'X,T + A'X,Xx =0,
A= | Atx| P AT XX
d x -1 -2 -1 -1
d§+|A x| " A'X, X A'x=0
s= d(t),
)(ttz'}\deX'F%Xt.
die
d(t) Ad =1, b(t) =



X = - Bx+ b(t)x .
Bx,x =1,
b= 2 Bx,Bx / | Bx|",
Bx.,x =|Bx|*.
r=1| Bx |,

a = r B(x + (logr):x),

(logr): = Bx,Bx: | Bx|?.
: e(t)
e = - Be +ve,
V= Bee -|lel
C .Neumann
- Be
2 , ODE ,
(X, %) - (e,e) : : C .Neumann
( )
24
\Y V Po, To, V

Tzzipi gijEiEjzl. K1(T): (T,T) |T|2:1



2.4 35

| T|? =9g(T,T), Lagrange ,

T=Eipi , A R
A (T, T) =ANg(T,T), (1)
(T,T) = Zlbﬁii
(bj ')\gij )EJ = 0, i,j = 1,2. (2)

|T| =1, (51152)75 (0,0),
det(by -Agi) = 0O, ,j=1,2.

det( g ))\2 - (geh:i + g1be - 2g2h2)A + det(by) = 0

YT , A (2) T(i=1,2) .
(2) Ai = (Ti,Ti), Ai Po Ti
1 V 1 Gauss
K(p) = At Az;
C )

H(p) = %(Al FA2) .

K(p) = det(h Y det(gi)

H(p) = (g2 h: - 2geoh2 + gub: ) 2det(gi) .

Ai \ Po ) T
, AZ#EA, 9(Th,T2)=0. p A=Az, o
V "|T| =1 (T, T)= const .
\Y

2 \% , Vv
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(1) v z= f(x,y) (X y) = (U, ),
p=(xY, 2), fi=fd
g = o + fify,
px p=(- fi, - f2,1)
W=|pxpl|= 1+ fi+ f2,

g = O - fif) W,
e = (- f1, - f2,1)/ W,

b = fil w,
K H.
(2) D x=x(u),y=y(u), z=v, u (x(u),
y(u)) . XTHyi=1,
g = (du)® + (dv)*,
e=(y, - X,0).
= -dp de= (¥y - %xy)(du)’ .
At =0A2 = XY - XY (XY) K=0,
H= S (XY - Xy .
(3) . p= (rsinu, ( R+ rcosu) cosv, ( R+ rcosu) sinv),

O<r<R.
g(u) = rsinu

h(u) = R+ rcosu.

p. =(d,Hcosv, hsinv),

p. = (0, - hsinv, hcosv),

E = (rcosu)® + (rsinu)® = r,
F=0,
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G=H,
EG - F = (R+ rcosu)’,
w= EG- F = r(R+ rcosu),
e=px p/ | px p|=(H, - dgcosv, - gsinv)/ r,
puw = (- rsinu, - rcosucosv, - rcosusinv),
pv = pw = (0, rsinusinv, - rsinucosv) ,
pv = (0, - hcosv, - hsinv),

L=r,
M =0,
N = (R+ rcosu)cosu,
H :; ;+ cosu
2 I R+ rcosu '’
_ cosu
r(R+ rcosu) °
2 6)
2.6
1. (Enneper )

X = 3u+ 3w/ - U,

y=-V +3v+ 3,
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z=3(U4 - V)

2 .
z= Xy
3.
p(u,v) = (f(u)cosy, f(u)sinv,g(u)), f(u) >0
: = -¢,c
4. V. R* p: D-R’D R?® :
D-R , e :
q = p+tefe,
e V : qa =4 A) =
| v x g |dudy,
, _ dA _
A (0) = =-2 fH det(gi)dudy,
Cts:O D
g=Zgjdddd Vv H Vv
5.
P(u,v) =y (u) + vd(u)
K = — M = - (v - 3 x &)
EG- F w' ’
u Y 0 (u) ,
W=]y xd+Vvd xd|.
6 . p(u, V),
= de de.
K -2H + =0.
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25
(1) M= S (R) R>0 ep=-pR.
M= S (R) M=A=V R H=1 RK=VR .
(2) C M={(x,y,2 R: (xy)=C(9},
C(s) F .S M e Xy
(X(9,2 ,(0,0,1) , A =0;
(C,0), A2 = k(9) .
, (u,v)
(3) . M= (X,Y, 2) R3:§+§+§:1

M: x = acosucosv, Yy = lcosusinv, z= csinu.

p. = (- asinucosv, - bsinusinv, - ccosu),
p. = (- acosusinv, bcosuwcosy, 0),

puw = - (acosucosv, kcosusiny, csinu),

pv = pw = (- asinusinv, bsinucosyv,0),

( acosucosv, - bcosusinv,0),

?
1

w= Bccosucos v+ cacosusin'v+ absin u,
e = - (bccosucosy, cacosusiny, absinu)/ w,

E =d&sin" ucos v+ Bsinusif v+ ¢cos u,

F=(d& - §)sinucosusinwosy,

G = dcos usirf v+ B cos ucos v,
£
L
M

W cos u,
abd w,
= O’
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N = abccos U w,
H = abc( & sin” ucos v+ B sin” usin® v

+ ¢cos u+ asi’ v+ B cos vy (2w),

K=a¢é w .
(X, Y, 2
K:a'2b202i4+34£+i4
a b C
H_a2+t§+cf"-(>€+v2+i)
- 222i i i .
2abc a“+ld‘+é‘
_ XY Z_
(4) M= (XY, 2 R3.§+ 02-1

M: x = acoshucosv,y = hcoshusiny,

p. = (asinhucosv, bsinhusinv, - acoshu),
p. = (- acoshusinv, bcoshucosv, 0)
p.uw = (acoshucosv, bcoshusinv, csinhu),
pv = pw = (- asinhusinv, bsinhucosv,0),
pv = (- acoshucosv, - bcoshusinv,O0),
e=(-xd,-yb, 22y Q
E = & sinh’ ucos v+ B sinh’ usin’ v+ ¢ cosh’ u,
F = (8 - &)sinhucoshusinvcosy,
G = & cosh’ usin’ v+ B cosh’ ucos’ v,
L=-10Q,
M =0,
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N = cosh” U Q,
o (X +yV+7Z)-(a+b -c)
28B6¢Q !
K=-a’b*c’Q" .
(5) M = {(ucosv, usinv, bv): (u,v) R*},bz 0.
p = (ucosv, usinv, bv) .
p. = (cosv,sinv,0),
p- = (- usinv, ucosv, b),
E=1,
F=0,
G=8 + U,
EG-F =0 + (,
w= B+ U,
e=px p/ | pux p|= (bsiny, - bcosv, uy w,
Puw =0,
pv = pw = (- sinv,cosv,0),
pv = (- ucosv, - usinv,0),
L =0,
M=- 0B w,
N =0,
H =0,
- I
K=m.
(6) M: p(u, v) =C(u) + vA(U), C(u R
A(u) C,A =0,|A|z0.

p. =C + VA,
p = A,
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poXx pp =Cx A+ VA x A

E=1+4d | A |,

F= C,A,
G=1.
A=A(u)
Cx A=\ A,

A= Cx AA/ | A,

EG- F=|px p|° =|ANA + UA x A’
=N+ V)AL,
w= AN+ V| A,
e= WA + VA x A) w,

p.= C + VA',
puv: p\/uzA,
pv= 0,
L= C"+ VA" AA + VA x A/ w,
_ 2 A
M= Cx AA/ W =4 g
N= 0,
I U i i )\
Hzi C'"+ VANA + VA x Al w, - N+ C. A
2 w
2
K - A

: M
Ax A,C =0,
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(A=C) . , K=0.

1. M R K H. A>0,

AM = {A(X,Y,2): (X, 2 M}
Ka Hy .
2. Yy , O<k b.
P(u,v) = y(u) +e(cosvN(u) + sinvB(u)) .

(1) Pux Py = -g(1- lkcosv)(cosvN(u) +sinvB(u)) .

(2) e,P(u,v)
(3) e=cosvN(u) +sinvB( u)
__ - k(u)cosv
(4) K_.s(l- le cosv) -
3.
P(u,v) = (u, v,log cosv - log cosu), u, v THHE
0,
2 2
K = —_Sec usec v
\/Vd ’
W= 1+tan’u+ tan’v.

2 2

X
z=—2+a%

a b



K H
5.
z= X - 3xy
K H .
6 . f C[O0, +x),
z= f(r), r= X +y
(N = r(iir)f’f( g)rz))“
H .
7.
z=¢g""?
K, K<O0 K>0
2 6
M , N M
1 p MA T,M,
S(A) = - AN,
S M p ( 2.7) .
: S(A) = - dN(A), S
IN|°=1, N,Ax N =0, S: ToM- ToM
,Aa N AN A ;
M= S : N(p) = p,
S (A) = - dp(A) = - A.
A B ToM,

S(A),B = AS(B) ,
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27
S :
A ToM , k(A= S(A),A .
p A : , A
S (A) = k(A)A,
k(A) : S=S . , H(p) =
%trace( S) K(p)=detS.

1 AB ToM
S(A)x S(B) = K(p)Ax B

S(A)x B+ Ax S(B) = 2H(p)Ax B.

gc R R
M g=0
Z=Ad 2,
e= 2 | Z|

S(A) =-Are=-AZ | Z|+ &,
e S(A ( 28) .
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e V.Z/|Z |
‘\
\
” VAe
/
/
1 /
1 /
|//
X,
28
: : u,v. ToM Ux V=2,

K=2Z fMZxDvZ | 2]

H=-2Z (AvZx V+Ux AvZ) (2] Z]%) .
Gauss

q= X Y Z
M'g_é+ﬁ+€_1_0'

(a,bo)=(a,a,a),

3
Xi
Z= S E .
2. @
U=tE TpM,
ti
AvZ = E .
u,v. ToM Ux V=Z. X=xk,

Z AuZx AvZ = X Z=1.

K=vabé|z|".
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1. vy=y(9 M , €
Y
Sly') =- ¢é .
2. M: z= f(Xx,Y),
£(0,0) = £.(0,0) = ,(0,0) = O,
(0,0,0)
3.
P(u v) = (u - %+ uv, v - §+ wi,d - V),
(0,0,0)
4 .
z= X - 3xy’
(0,0,0)

5. ¢€=1 e= -1,

2 2
z= % +¢ %,
a b

(0,0,0) _
6. vy : O< k b,
P(u,v) = y(u) +e(cosvN(u) + sinvB(u)) .

K_;k(—um

“g(1- kcosv)

2 ./

2

D R

. DR Jf= (U, 0) . . df = fudd +
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fadd , ﬁ:—ﬁ, f u=(u,u) . ,
dx dy . A= (A, A) R, f u
df(A) = Q‘ f(u+ tA)
dtle=o ’
mHA:ﬁuthﬁw:A. dd (A=A .
1 g,¢ D , = gdu + gddf
1- : (A=gA+gA. D 0-
,1- R

! V={(xy f(x,y): (x,y) D} R,

A(f) = 1+ fi + fadu du .
D

dD=dddd D . (U,u)=
F(V,V)=(u(v,v),d(v,Vv)), (v,v) D,D=F(D),

F ,
didd = |7 | dvVdv, T = Liﬂéﬁi

1 2

(Vv,Vv)
D ¢ >0, duddd =¢dvdv; D (¢ <0,
dddd = -Zdvdv . F ,

2 :
di du =0, dd dd =-dd du,

a=(adu),p=(bdu),

a a

h b

du  (fdd)= fdd du .

a B = du  du,
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3 = fdd dJf 2- VARV &
(Vi ,\2) = fdet(du(V;)) .

fdu dJ = - fdd du = %f(dul dui - dd du) .

0- ,1- 2= .
: D dd du;
D ¢<0 ,dV dvV =dvd¥ D
,dui:—\ljd\/,
dd dd =Cdv dV = -ZdV dV = -Zdv dv .
D >0, (d,0) (V,V)
4 1- @=gdu + gdd, d
dp = dg du +dg dd .
dp = —%+—‘j— dd  dui: 2- o, dp=0.
d =d d=0( ) .
Q R | 0- 1-
2- 3- . , f,g,hR - R,
X=(x,y,2 R, w= f(X)dx+ g(X)dy+ h(X)dz R’

1-
dw = (g« - fy)dx dy+ (h - g.)dy dz
+ (f. - h)dz dx.
FF D R-R, F(u)=(x(u,y(u,zu).

2

Fws= z (fx + gy + hz)du .
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CF do=dF o( ). R’ k-
(0< ke n),
p: D R-R,
dp=zpdd,
)
p: D-R — 1- w
u
oo:ZGldu',
GD*R3 ’ 1_ (1)1,(02,
W w = Gx Gdud du,
2
(om:zG{“de,mz 1,2 .
1- )
: p: DR,
p=p(d,d), px pz0, "(u,F) D.

Gauss ( 29)

o --_DPxp
lpxp |

{p,p} Schmidt
{e,e,e} R . - (w)

{e, e},
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3

de:Z Wi €j , i:l,2,3.
1

Wi = de,e; . e, g =6ij

de- ¢ + e- dg = 0,

wi + wi =0; 1- (Wl)
5 (1) 0-
(2) C U=u(y,i=1,2, D (

), @=gdd D 1-
[ oo oub) War.

(3) A D . @=fdu fdu,

I @ = fduidd .

Green ( Stokes ):

, A=intC, D 1- ¢

L IR

o = xdx - ydy, B = zdx+ xdz,

a B.
2. 0=y, ® a [ 6.

3. w=ydx dz+xdy dz, O w dw.

w(t)# 0,
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3

4. 0= fidx |
2. "
' & 0° =det(fij)dX d¥X¥ dx .

n = fdx dy+ gdx dz+ hdy dz
d .
6. f,g C(R),
(1) d( fdg+ gdf),
(2) d((f- g)(df +dg)),
(3) d(fdg gdf),
(4) d(gdf) +d( fdg),
(5) df dg

2 8

p: Do R , {e,e,e}
: A=(a),detA>0 pi=z aie

(p,p) = (a,e)A, pi:—l'j'-_ B =add,i=1,2,

dp = Zleiei )

du

g=dp- dp=06: +6: = (du ,duU)A A i

0",6°) = (du ,du) A, G=(gi)=AA.
dp= Z Bie , d =0

die -0 de = 0.
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3

de = Z Wi €, Wj = - Wi,
1

(b - Zlem Wi )@ - zl (CI ws)e = 0,

(EIZZGJ ijia |:1’2
Zei ws = 0.
Wiazz hikek,
Z h@: 6« = 0,
hv = ha .
=-dp de =- (Bia +6:e): (Wie + Wwe)

2

=01 Wiz +62ws = Z hJGB;

1

- (d¢,di) A HA 3

2

2
H=(h;) . :Zlb;duiduj,

B= (b)) = A HA.

_ detB _ _
K= S82 = det(h), (1)
Hzf%)=%tm=%(hu+hzz).

de=0(i=1,2,3)



0= d(z3 Wijej)

= dwig - Wj de

= (de - W ij)e<,
dwix - Wij Wik = 0, i, k = 1,2,3.

dw: = (h11 h: - h2ha )61 0: = detHb: 0: = KI: 0: .
Gauss
i=1,2 k=3,

3

0= dws - Z Wij Wiz = d(hjej) - hjkWij O« .

(dhk - hj Wy - hjkWij) O = 0.
hk,m

2
dh« - thkj - thij = Z hk,nem, (2)

hk,rer B = 0.
0. 6. =0=6. 6,8, 6.= -6, 6.2 0,

he1 = 2, 1=21,2.
Mainardi-Codazzi : M-C
Gauss M-C :
( ) -
1( ) D=(-aax (-bb,ab>0,
0:,0. D 1- 8. 0.#0, g=6:+6>. (h;) D
hi = hi, =hfB;, R g

(1) (2)
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Gauss

K

hik, m Gauss M-C

4

T+ &+ vy (0w dv)

1+ V 1+ V
?
= duf + dv
= dd - dV
?
di + dv
T 1+ d+V
_ dd +dv
1+ 4 + V
?

= E(u,Vv)(dd + dVv)
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= f(u, V)

29

p=p(uv) = X(u, V).

{e}, e=-e

{w} (W)
dp = we
de = we .

w = adu+ bdyv,
w = adu+ bdyv,
a=(a,a,0),
b=(h,b,0),
A=(a),
B=(b),

Y=(a,e,e),

, f
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YY" = 1.

dp= (adu+ bdv)Y,
dY= (Adu+ Bdv)Y .

By -4
u
—2y" =,
Vv
-XYszx
u
Iy - B
Vv
Y p,

=dd + (1+ d)dV

_ -2
1+ U

dudv .

w= 1+d w =duw = wdv.
a= (1,0,0)
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b= (0, w,0) .

0,dw = wdu dv= (logw)w

£
I

- = - (|ogw)’(,o2 = - wdv.
_ 0 =24
= howw = —Fwd ,
W
= h: =0,h: = h: = -21-
W
Qﬁz 'lezz'_]-dv
W W
W = -21(52 _Zldu
W W
0 0 0
o o L
A = w
0o = o
W
0 -wow!
B = W 0 0
_W'l

Y=Y1Y2 .

2
w
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dyy "’

u=tant,

Y1

=dY:Yi '+ Yo (dY2Y2 )Y,
0 00
o 3 du
dY:Y:" = Adu= 0 0 1 W2
O -1 0
Y: (dY:Y2')Y:' = Bdv.
dr=9Y
W
0 sint cost
B= - sint 0 0
- cost 0 0
0 0O 0 1 0 0
—exp t O O 1 = 0 ocost sint
0O -1 0 0O - sint cost
1 0 0
= 0 w' U w
0 -uw w'
O 0 1
dy: ;' = Yi'BY.dv = 0O 0 O dv

cosv 0 sinv
0 1 0
- sinv 0 cosv

Y
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COSV 0 sinv

- Ugny  w?  Yeosv
W

Y = YiY2 =

-1 . u -1
- W sinv - W ~ COSV
w
—E = a¥ = (cosv,0,sinv)

—5\3/: bY = (- usinv,1, ucosv) .

p(u,v) = (wosv, v, usinv) .

= vdd + (1+ V)dv

V’Z

= ———dd + 1
1+ V 1+ V

dv .
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= du + coS udv

= dd + cos wWdV .

2 10

Max 2 2% 2 .
SL(2,R) = {X = (a) Ms:: detX = 1} .

w=dxX". (1)

Maurer-Cartan : w=(w) .
detX=1,

(1) :

do = w W, (2)

dQi = w e,
dQi = 2.0



62 2

dQ: = 2w wr .
FF D R-SL(2,R). F w w .
Qi = pdx+ Adt,
Qi = gdx+ Bdt,
Q = rdx+ Cdt.
(2)
-pe+ Ac- C+ B =0,
- g+ B« - 2pB+ 20A = 0, (2)
-+ G- 2rA+ 2pC

p=r=1,d=u(x,t),
A= C+ C/ 2

B: UC' Cx = Cxx/2.
(2)
U = C+ 2uC« + 2C« - %Cxxx .

KdVv

g=r= v(x,t),p=1,
M KdV
1 3

2
M = " " Vixx - Vx .
4 2

( ) . -V MK dV

MKdV
% MKdV
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U= w+ V,
_ 1 3
Ut - 4Uxxx 2UUX,
KdVv
AN 2
U=-w+(Vv),
N N
U KdV . Uu-u Backlund
, u KdVv
v« + V = U,
V.
0=- w+ (V)
KdVv 0.
. Backlund
2 11
f: D RoR , R

V=V(f) = {(xy f(x,y)): (xy) D}.
\Y v

A(f) = A | (1,0, fx)x (0,1, fy) |

= 1+ f5+ fidxdy,

D

A( f) :,[ _ o 1+|A f|fdxdy.



N= (- f«, - fy,1) 1+ fx+ fy .
& D R-R §( D)=0. t R,

A(t) = A(f+ E) j’ ) 1+|A (f+ €) |°dxdy,

A(0) f | —AlBE—duy.

1+]|A f)°
1. A f
H(f):Edlv 1410 £ = 0,
_ A f
A(O):I Ediv L+(a 1] dxdy
=-J'2DH(f)dedy
=0.
€,
A (0) = 0,
Dx R v
Dx R 2- w:

(X, Y) = Xx Y, N
. =(1,0,0), = (0,1,0), .= (0,0,1).

1
1+|A "
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-
1+|A f|°

w( y, z) =

fy
1+]A f?

w( «x, z) =

dx dy- f.«dy dz - f,dz dx

w =

1+|A f|°
A f
= - div ) dy dz=0.
1+|A f|
, (X,V¥,2) XY | X[ =1Y[=1, X,Y =0
| (X, Y) | 1.
z= f(xy); X,¥Y TxyaV.
> Dx R 2=V, Stokes
A(T) =I Vw:I RS Area(z) .
Bernstein R H(f)=0

V: z=cosh' X +Vy

V: €cosx= cosy K.
H(f)=0

A W DN PR
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uv( U U) D
dé = EdU + 2Fdudv+ GdV,

D={(uv) R:U¢+V <1}.

dg = e (u24+ Vz))z(dl} +dv) .
Poinca : (D, d$)
. , R’
(D,d$) 2-

(1)

' = adu+ adv, 6 = adu+ ady,

(1)

(2)
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i= Ed=0d=-F4=—FF
E E
ds =(6")" +(6°)"; 0" .62 ,
(2) 08 . & 2=
b,
® =-he 0,8 =-bo 6,
@ = b6 + b6 uf = -, =6k =0,
.
® =560 w,i=1,2. (3)
, e 2- K
ded = KB 67 . (4)
(3) (4) 2-  (D,d$)
{91’92} W= 2 Levi-Civita
(V]
, K {0'.06°}
1\2 L 22 G} 3
, dsS=@® ) +@®) . 8= o 8 = o
S 02
0 =9 . (5)
(5)

d =dS 6+ Sb .
®d=(dS S'-WS"') 6.
W 0 Levi-Civita

w=-dS S'+ IS,

WS = - dS+ S .
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d(wS) =d( - dS+ Sw)

do- S-w dS=dw S+dS S' dS- SS''
dS w+ S dw.
S-l
dw+dS S' dS S' - 3wWS' dS S*
= dsS S* S w S'+ Sdws™* .
: 0
SS=lLw= ,
] 0

(dS S') = S"dS =S d(S')=-dS S°,

WS’ ,
B 0 «a . 0O B
dSS - ,81)8 = 1]
-a 0 -B O
a B 1-
. » 0 a 0 «a
dS S dS S =
-a O -a O
-a  a 0
= =0
0 -a  a
S’ dS S'+dS S’ WS
0 B 0 0(+ 0O a 0O B
-B O -a 0 -a 0 -B O
I S 0 . -a P 0
0 -B «a 0 -a B
=0.
(6) dw = SdwS *,
0 KW' 0°

ds,

(6)
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~ S S 0 K 6 S S
g g - e 0 g g
S S
S= detS=SS -SS=1.
S ¢
KW' 08°= K 0.
' 8°=(SS -SSP 06 =det®" 6, K=K,
, K
d¢ = EdU/ + GdV . 0'= Edu®® = Gdv,
®'=- —FEdu dv= - L+ —8 ¢
V GE V
B =-—Squ dv= — —% ¢
u GE u
Oﬁz; %1_ %2
GE V
_ 1 Equ. L de,
G Vv E U
d(x)%:- 1 _ G+__1_ E 1 92,
EG U E U vV G V
K= . —L 1 _ G, _ 1 E
EG u E u Y G Y
E=G F=0 , (uvV) D (
D ),
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Poincae , K= -1.
D X
ds . X ?
R . {e,e} {6",6°} , {ea,e}
8'(e)=5i,i,j=1,2. 2- (D,dS) , x

span {e (X),e (X)} . X= ZEiei,Y =y ne,

dd(X,Y)= X,Y = zzhj .

{e. e} : "6}
—_ a —_ a 1 2
{a1e}’ e_$ N _Se ’ {e 16}
.8’}
1. Poincagé w .

ds = (f(u®+d (w)(du’ + f(u)’(dv)*,
f>0,f°+d°>0, :
¢ =¢&(u,v),n =n(u v,
ds =A(&” + d°) .
d$ = (U(u) + V(Vv))(dU + dV),

dd - 4vdudv + 4udV )
2 ,u> v,
4(u - V)

d$ =



32

32
(D,ds$)
uv , f:D-R . X R (a b)
,(a+&,b+n) ( 3.1).
Ui
5 u
3.1
f (ab X
_d = g—Lapn-
X f= dtf(a+ €,b+ 1) o ¢ u+r] Vo (ab)
f ’ X=E_U+r]_v (alb)
w= fidu+ f2dv D 1- '
w(X) = i + fan= w, X
Xf= df, X =df(X)
1 X D ( ) D

X= f—+g~,



D) Leibniz

F: D-D () s (u,d)=(u,v),

Ww(X)= fix'= fo— Xi_& w(X)

2
2 X = X —.,Y = Y! D
Zl u

[ X,Y] f C (D)
[ X, Y] f = X(Yf) - Y(XTf) .
[ X,Y] Poisson Lie
2- (D,ds)
d¢ =(0')" + () ,{e,e} {0',0°}
3 X=g'a +{"e (u(t), v(1))
X

DX < &' LW
dt'Z dt+Zf’Eta’

w d$ Levi-Civita

=2=0, X (u(t), v(t)) ;o (u(t), v(t))



Q P ,  X(P) X(Q
D X 1 2
dt {070}
El
&= _, .
&
e=(a,e),
0 w
w= :
w O
DX _ _ d  w
dat = © dtJ’EtE
=9,
e=eS'E=F,w=3S"' -dS S*
g, 0 _ &,
€ dt+d_tE B dt+d_tE
X = Z ,Y=Z ne
d DX DY
p(1) g XY = g0y X gt
X, Y = Z &n',
Q — ii |ﬂl
dt XY %—tq *e dt
W g’ = -wéhn’
Q |¢_i wij chl (J\)IJ
dt XY dt+a‘fl‘ *E EL{‘
DXy, x X
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. 2%=0Bt=0, XY p( 1

X = acosucosv, y = a&osusinv, z = asinu
T
( u=+= E)’ e,e ; u Y

e =( - sinv, cosv, 0); Y u e = (- sinucosy,
- sinusinv,cosu), e=ax e,
e = (cosvcosuy, sinvcosuy, sinu) .

de = (sinu)dve: - (cosu)dves ,
de = - (sinu)dve - dues,
de = (cosu)dve + due .
w = - (sinu)dv. A=sinu, u.
X=f'e +&%e
[+ SN
dv k=0,
E e
dv+)\E = 0.

"= asin(A\v) - AV),
22 asin(Av) - Bcos(Av) (1)

Bsin(Av) + acos(Av) .

v=0 , X(0) =
e ( (1) a=0,pB=-1) V=TI
cos(Art)a - sin(Art) e ; e = -T
cos(Art)a +sin(At)e .
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4 ds = gidddd, (g')=(gi) ',
i = L Qijk + qﬁl - qﬁ ,
2 u u u
ru = Z gkhru h
- _ S
Dj i = zlru uk
u — u
u
[ Chrigtoffd
p(t) = (U (1), d (1), X= Z Xi_ui;
© du
p(t) = Z PTaETE (2)
Doy X= Z Doy Xi_ui+ X' Dp(y _u

2

dX . o dd
:Zl dt ui+le

2

_ dX | o oy dd
_Zl dt+§-1erXJ dli u -’

erkx’d” =0, i=1,2.
, X p T
ArX . p(t) pP(0)=p,P(0) =T

2 - 2
DX & @l
= t=0 = + .
AX dt | t=0 zl dt ,._>.1 dt [t=0@|p,
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2
X = Z e, {a,e} , 0 Levi-Civita
1

X = z X e (2)

2

DTx=2 dX+ZI‘1kXT —u-lp,
1
k

_du _ K
=S, T= le <l -

1. XY [X,Y];
2. Jacobi
[[X Y], Z] +[[Y, 4, X] +[[Z,X],Y] =

3. R.={(uv) R: v>0} dsz=%(du2+dvz),

u=t, v=const

33

1 p(t)-(U(t) U (t)) (D,ds)
Doy p() =0, "t I, p(1) p( 1)

© dd
p(t) = Zl dt u ,
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dzu‘ du du _ . _
erk g gr = 0i=1.2.
ODE

1 (D,d$)

dd = (6')* + (0°),{e, e} {06',0%}
|d(t)=Ele+Ezez
ZEJ—L =0,i=1,2.

R.={(xy) R:y>0} ,dsfzyl(dwdy)

elZM’GZZM’ CB:L:M:d_ 92’£2:0’
y y y y
1 m(_ 2
W = - = -
y
p(t) = (x(t),y(t)) : |O=><_X+y_y
eL=y_X,e=y_y,
- X Y
= —e + Te
b y y
_X'_l_lzo
y y 'y ’
J'+l_l:0_
y y |y
A=X vy, B=yVy Yy,
A - AB=0
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A__ Y
A_B_y’
A=cy, C
t=s , AN +B =1,
2
ey + L =1
Y y
ds= dy22
y 1-¢cy
_1 a ,ody A _ 1
0 , y=—"dmn, ds:sir?\’ y—d\ 4s- Ccos?\sn\,
B:l:cosk,
y
A= X = smh
y

xd xdsq X%Sd\:‘tsimd?\:-lccos?\+a,
a ) A

(x-a +y =+
=0 |, A=0, X= a,a
J(R'+,ds) X

(R°+ ,d$) Poincag

M:p= (f(v)cosu, f(v)sinu, g(v))
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E= £ ,F=0,G= (f) +(d) .

= 0,
1 ff'
M2 = fz’
2= 0,
ff'
I'flz - > >
(f) +(d)
=0,
rgzz f f" + dq”

(f) +(d)

p(t) = p(u(t), v(t))
U+TMud’ +2F2dv +M22v° = 0,
V+Tid’ +2rsuv +T 2y’

u+24fuv =0,
, ff' 2 f " + gg' 2
V- u® + Ve = 0.
(F) +(d) (fF) +(d)
(2): u=const,v=v(9,S
: : V£ 0,

((F) +(d))v’ =1,

_ 1
(F) +(9)

\,2

go . fPrdg o
() +(d) "
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(2): V=W =const,u=u(9,s
, U = const;
ff' 2
— >uU” =0.
(f) +(d)
f(w)=0. Wb f , V=\ = const,
u=u(s
(3): u=u(s), v=v(9),s ;
(ffu)y = fu+2ffuv =0,
fd = const .
Clairaut : ds * _ f1 ¢ .
du
v=v(s(u)) .

Fus+ ((F) +(d))v" =1,

Yory+(g)y)y=- £ +1

dvds *

B o re 1)+ gy 488

du

<

dv_ 1 f* - ¢
du ¢ (f) +(d)



33 81

+ const .

o1 ()Y +(d)
u—J'c f g

2- ,
FQA) = F(sA) p(s) , A=0,FA)=p.
FQ\) L()\)j' :| F-|ds. T=F,N=F,
W= - W
AnT = ATN .
P=p(s) LA) A =0
P=p(s P Q , P=p(9

1. dg=dd +ddv, V= const

d$ = (f (u)’ + d(u?)(du)’ + f(u)(dv)’,
f>0,f?>+d*>0,
3.
dé = (U(u) + V(V))(dU + dV),

g2 = dud - 4vdudv + 4udv

4(u - V) >V,
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34

(D,ds) : (u)

2

ds = g= Z g;dudu .

| g|= det(gi) .
X=Z X',
| X|= Zginin.
1 9 A f C(D),
i f
Af= ¢ J
, z Foof
Af|? = = —
| | Zlq d U
J:_u;,
g div : X=Z X
. 1 2 -
divX = i( 1aglX).
|9|Zl
f (f(D),

Af = div(A f) .
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Agf =

1 S |
FIRIRRRR PR
A, (D,g) Laplace

(D,g) Laplace

g= (91)2 + (92)2;

® = Zze‘,- 6, d: =- 1 6.

2
du = Z uw ' .

2

O = dUI ei - Lﬁj eJI .
Uij

ue’' = du + ud;

ue' 6 =0 Ui = U

Agu = Wi

g= €' (d¥X + dy) .

9' = €dx,0° = €dy,



u C"(D): g=€"g. k g
1 K=e®'(-Agsu+Kk).
g= (8") + (92)2. :
oe‘zzzle‘,- 0,0 = - ' 9.
e =eb' .

@ =y 6 e,
@ =6, +uw - up' .
d@) = d@:z) + d(wd” - ud") .
| = - K e
- KeE®' ©°=-1B" 6 +du 6’
-de 0+ udd - wd .

du = 2 ue’' - up!,

- KE®' O =-WB' O+A,80 ©.



3.5 Gauss-Bonnet 85

, S K C(S),
o] K .
Stokes
K . Kazdan-Warner
(V.o) (R, 9)
g = - Ksg
g= g(t) , Ky g
g(0)=o . Calabi

3 5 Gauss-Bonnet

(D,d$) 2- ., C D
A C
1 Stokes ¢ D 1-
[, @q o (1)
C : C C
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C A( 32).

2

(1) A=[O,a]><[0,b],cp=z fidu . dp =

1

[ of L -Taiq o
(2) A ,

(1) (1) A
(3) A . A A, A
A (2)

fao=3 =3 oo o

(  33).

32 3.3



3 5 Gauss-Bonnet 87

I dp =0,
@ C(D).
d¢ =0 )"+ () ,{e,e} {6',0°} ) Levi-
Civita . Yy =y(9)(s ) D
=y e, S €) =1T=y",
N=-8a +&'e,
N T. Y =Y (9 Ko

2 ; 2 i

= & Wi j
=2 ds+zla§ °

ko, T :z & £+ °l+‘*iala2:o

ds ds ds
k = k¢N
& =cox &% =sim,

_ 2 AU | Qo L, oo we
k= -¢ ds+d—sE elJréds-|-d_§ &= 4s ds V-
_d W
kg_ds ds’

v=y(s) w=d- kds.
2 (Gauss-Bonnet, ) (D, d$)
2- , A D

A= Zlyi,yi ) Bi Yi Yi+1 ,
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I RLch ezj’ keds= 2 - igi . (2)
dw: = KB* 8%, Stokes
I A|<91 0’ j’ Adooé j’ Aooé.
yi ai Yi
w = di - kds,
[ @ &=S @[ ks
(1) A Y =y (9 , A (
), A P (r,a) r=r(s,
a=a(s) y=y(s). D p A

A = A\D ( 3 4) .

34

Stokes

Oi Asdxj’ A:[ DEcb(.



3.5 Gauss-Bonnet 89

£

li ch(=2'[,

J’ Ko’ f keds= 2m

(2) A=yi1 + +y., A A
B=p' +p", B A.

J’B,du{ e

.I B”Ch - ZlBi’

(1) m:f o+ ZB_ (2) .
A (A D ), kb,
3 , Bi:T[-|i,
IAI<91 0 = h+bL+bk-T

> T, A K >0,
L+ kL+k =1, A K= 0,
<TI, A K<O0.

, h+ b+ s>, Poincare

L +L+ k<.

1. D=[0,a]x [0,b ds



90 3

2.
a, -
. R S,
Euler X (9 =v-e+f, v,e f
S R
Gauss-Bonnet
I SKel 8° = 2tx(9) .
x(s) S
) .
3 T R
I L 8 =0
4 . S, S
S 0



Einsten



4 1
n
n . .
1 M n
: (1) R" Ve fo: Vo o M Cfa (V) =
W= £(Ve)n B(W)Z £ (W) (W) R
, £ £ £ f : (2) V= (Vu, £)
(1) , \Y (1) \

(  41).

4.1
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(Mo, ) M p (W) ; @« =
'y =R (M), (U,a) M p W
(U,0a) M :
(1) (2) : : (1)
(2) .
(1) n . R’
2 (x, ,x) R , (W,9) R
, % =X Qa .
(3) n M , Uu M
(Vo, &), & (U) W R
M Hausdor ff : M
Hausdorff M
( ) :
K K
(UB): K Us , Us 1 Us, K
M M (
M ) n=dimM, M= M", M= (Uas,@a)
1 R Q n U=Q,p=id
2
H={x R % - % =1,% > 0} .
¢: HoR
P(x) = (x, ,X)
H H n
3 S N=(1,0, ,0) S=(-1,0, ,0)
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Mm(xX)= (x, ,X%)(1- %);
M(X)= (x, ,X) (1+ %).

(Ui, M) S :
M M:R-R;M M(y) =y |yl
S n ( 4 2) .
4.2
2 M=(Us,ge) M=(U.e) ,
f: M- M p M p (Ue,@a ),
(U, p),
o f @':@(L) R -R"
@« (P) f M f
@ fo' f .
, M =R f: MR :
M=(ab) R y: 1 R M :
M , M (&a)
& C (M),
0 é < 1,

SUpa U .
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95

M U a Un supg. =€ ,

ZEa =1.

Supe ={x M: & (x)# 0} &«

y(9 = (X (1), ,x'(1),

M
p M
y(O0)=p, A p
] y -
3 % p y' (0): A-R:
. d
Yy (0)o = dt(cp Y) |t=0,0 A .
M y p ]
To M, p ( 4 3) .
oM
P
/ N
4.3
v:1 R M
Leibniz
X)) p M : y =y (1)
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d _ _o dx _ Y _
SO V)l = 2| = X0 0.
v (0)= X (0], (X, )
’_Xi|p Xi_’(ol 1Xi101 10)
p . ToM  spans _x'|p

1 TiM=span —)<|p

vV  spark —X.|p : v:)\‘—x.|p. y: 1> M
y (X, ,X) X (1) =A"t, vy (0) =,
spane i |, TeM . ToM spans —)<|p ;

e .

X
M n . TTM=(T,M)" p

p M, (p p d(pp Tle T(p(p) MZ

deo(Vv) = (@ vy) (0),
v=y' (0).y p :
® Y dos (V) y :

(X, ,X) p T d f. 2 o
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: 7 -
5 ®: M- M < k. @
"p M, dpo: ToM: - Ten M2
® (M) M ( o(M)
M. o (M) ) @ Mi-o(M)
@ o(M)- M ( : ®
M:  @(M) ) 0 : , M M,
i M- M , M M.

4
O(n) = {A  Mx.(R): det(A) = 1, AA" = 1},
Men(R) =R" . ,

GL' (n) = {A Mxn(R): det(A) > 0}
R . S-n Mwn(R)
F:GL" (n) = Svn; F(A) = AA" - 1,
so(n) = F* (0) . ,

. SO(N) = F*(0) Mw.(R) =R n(n- 1y 2
6 M , M
™ = {(p,v): p MvVv TiM}.
2 TM 2n

M= (M, &), k: Voo M. @ =%"=(x, |,
x), "q W= t(V),w TM,

VRIS
R: Vux R"- TM



R(X, ,%; ¥, ,%W) = fx(xx),Zyai—X;

(Vex R, R) (1),
(p,v) FR(Mx R)n R(\x R,

(p,v) = (k(q),df(h)) = (©(g),dfk (b)),
g Ve, G Ve,h, b R".

F' R(g,h)= R (f(q),dft(h))
= (f' &(q),d(k' f)(k)).
't =
T™
(Vax R") .
5
H={p=(x%x,X) RxR:|x|°-%=-1, X >0}
p H,v ToH. v=(w,y) RxR.

X Y= %W .

TH = {(p,Vv): p H, X y= %W} .
T M={(p,v): p M,V T M} 2n



42 R 99

Mm: Mx N M
I_IZ:'\/I>< N—)N

2 . 4  SO(n) A

3. P.(R)=(R"" - {0}) R, R
x= Ry R"' - {0}
AR X=AY . P.(R)
4 S
3 S .
5. M 1 3x3
(1) M
(2) M R ;
(3) M | M .
42 R
p R,RR R p (R’
R , R R
(R)  n . ,R=R". R
(X, X,

R = spans _x|'°

(R) = spam dxi|p ,
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: “E’
k>n, “E =
¢, 0k,
O Q«: EXx x E- R,
(@2 @) (v, W) = det(gi(Vvi)),
o o« “E, : ., (dx1)e
(dX*)p “‘E", b, ik =1,2, ,n
dX |p,0=(ir, i) . lnk
(i i) b < < ik,im 1 n
1 {dX:a lnk} “E
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42 R
g ‘E,
C( In,p
g(e,, .e) = f(e, .e)
g(e,, .9,) = f(e Q) -
b, s k=1,2, ,n , g=f
“E’ {dX: o  Ink} ,
{dX:a I} “E
2 w R W k- p W
w(p) E,
w(p) =aznkax(p)d><“p,
a: WoR . w k- W=Zad>?.
W k- “(W) .

d¥ dx =-dx dX, i# ]
dX dX =0.

3 W R ,
(1) k- we = 5 adX,w = 3 bdX
wetwe =y (a4 b)dX
k- W:Zadx“ m- (p=std>?,
IKZ In,maXde)g dx .

€
S
I
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dx
, R

dx =0, w w w=0.

w= Xxdx d¥X + ¥Xdx dx,

w=2xxXdx d¥ dxX dx .

w
4 W= Z a dxX W k- , W dw
dw = Z da d’>{‘, da a&
2 (1) w “(W)
dlx + ) = da + due .
2) o (W.,0 (W)
dw ¢)=d ¢+ (-1 dp.
(3) d(dw) = fw=0.

w= xydx+ yzdy+ (x+ 2dz ' (R),

o= d(xy)

dx+ d(yz) dy+d(x+ 2 dz

= (ydx+ xdy) dx+ (zdy+ ydz) dy+ (dx+ dz) dz
= xdy dx- yy dz+dx dz

= - xdx

f: W

£ w | n(
p W,w

dy - ydy dz+ dx dz.

R' - R" o w (R,

Vi, W) = @up (dfo(w), ,df(w)) .
, W% Re,dfp p : R"
h,

f (hy=nh f.
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3 f:W R'S5R" ,h: R"5 R ; W
R" k- : :
(1) f (@+@)=f w+ f @;
(2) f () =f (h)f ();
(3) @, o« (R),
f (o ¢) = f (o) f (@)
(4) d(f w) =f (dw) .
P W,w, ,w R,
(1)
f(w+o)(p)(w, ,w)
= +o)(f(p))(dfe(w), ,dfe(vi))
= fo(p)(v, W+ Ffo(p (v, ,w).
(2)
f (w)(p) (v, ,w)= (W)(f(p))(dfe(w), ,dfo(w))
=h f(pf w(p)(w, ,w).

(3)
f (¢ @) (v, W)
= (¢ @) (df(w), ,df(w))
= det(@i(df(v;))) = det(f @i(v)))
= f o foc(ve, ,Vvk).
(4) w=dh, R" (Y., .y")
£ (dh)= f —;-‘dyi
= —hi—f}dxj
Yy X
_ —(%ldk
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= d(f h),
k- W= Z adXx,
d(f @)= d(y f (a)f (dx))
= Z d(f (a)) f (dX)
= Z f (da) f(dX)

= f*(z da dX)
= f () .
3(4)
1. 3 (2)
O Oc(M, ,w) = det(pi(vi)),
¢, e (W)
2. w k- 0 S 0 r-

(1) (w ¢) 6=w (p 6),
2w ¢=(-1)"(e w),
(3) r=s ,w (@+0)=w o+w 0.
3. ¢ ¢ R :
f (o @)= (fFag) (Ffg).
4. @ k- K
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105

zdx dy

w= xdy dz- ydx dz+(%+y+22)3,2.

S R -{0} :
®: S - R - {0}; d(x) = X

D W
do” w .
4.3
p M, “(TeM)™ ToM k-
M=(Va, £),
1 w M k- p
w(p) “(TeM) ", p (W, &),
w(v, ,vw)=w(df(u), ,dE(w)),v R",1< i
W.
“(Ve) M k- “(M) .
(1) {w}
w=(F" £) w, H(V)n H(M)zé
Va We “(Vu)
(1) wo (M) . W
w={ W} . 3 (4)
dw = (£' £) dw,
dw dw (M) ; W
M d =0

(2)
(2),
“(M)
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2 X M X C (M, TM),
"p M X(p) ToM, Ve X

X(m =y &—|p,

X, Y x(M), Lie (
Poi sson ) X, Y] = XY-YX Xx(M).

X=a —,Y=b —,
X X

[ X,Y] = d%-bi%?. (3)

1 X,Y,Z x(M),ab R,08 C (M),
(1) [ X, Y] =-1Y, X],
(2) [aX+bY,Z] =a X, Z] +bY, 7],



4 3 107

(3) [[X Y], 2 +[[Y, 2], X] +[[ Z, X], Y] =0,
(4) [8X,0Y] =60 X, Y] +8- X(@)Y-@- Y(®)X.

Lie
1 wo (M), X, Y x(M),
dw( X,Y) = Xw(Y) - Yw(X) - w([ X,Y]) . (4)

J

dw( X,Y) = ab dw A

w= fdx", f C (M),
d( fdx") 7_% =df dx _x'7
=5kj_fi-5 _f,
X X
[ X, X]=0
XwW(Y) - Yw(X) - w([ X,Y]) = a‘bk—)‘; ab )z
(4) .
RI"I
3 g n M
p M,g(p)= p T»M
X, Y x(M), p- X,Y »
M (M, 9) .
(U,0) p @ = (X X")
gj(p)z _)(i!_Jp
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= g (p)dX (X)dx (Y),
g= g;dx'dx .
R" Qo

A B = Z A'B',

A= (A, ,A) B=(B, ,B) R’

n , .(X,

¢ =y (dxX)" .
2(R" ): {e}-1 R
e, =0;, I,jJ=1, ,n.
{w} {e} : 1- (i ),
Wi = - Wi

dw = Z(x)k Wi

d;oij = Z(A)ik (VI

6. = (1,0, ,0), ,0-= (0, ,1)
R , (X)) ,
d)(l(éj) :6” .

(R",9)

(5)
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e = Z bid;,

(b) :
wi = Z buXm (6)
de:Zooi;e;.
e,e = 0i,
de,g + e,de =0,
Wj = -Wj .

de = d(bjéj) = dbjé]

w;e = X(A)ijbjlék,

dh = Z wikby .

(6)

do = Z dhb; d>€ = Z Wik by de = Z Wk Wk .
; =k

=0

o =
0 = d(dh) = Z d(wikby)

= Z dwi«by - Z Wik dhs ,

Z dwikbg = Zwik dby

z Wik (JL)kmbmj .
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4.5

1. F M" - N , P M g= F(p),
F: ToM o ToaN( F- =dF)( 4 5),

X ToM,0 TiN, F X,wa= W(F X)q .
(xX) p (YY) 9 F =y F,
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111

_F“
(1) F(dy)=y —d
_ _F
(2) F- Z X'
(3) dF = F* d.
2 . Cartan k< m,
W, Wk "(R™)
0., O« "(R")
e| Wi = O,
AI] AIJ AJI
9| - Aij W]
3 R
{e}in:1 Rn ]
e,q =0ij Lbj=1 n
{w} {e} : 1- (i ),
(A)lj = - (A)u
dw = Z Wk Wi
(:D:(A)I, |:(11 1k)’ k<n’
® (R
db=¢ .
4. R |

X = X —,
X

1
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X = %(1+ X -y - zz)—x+ (xy - Z)—y+(XZ+ y) =,
Y= (xy + z)—x+%(1- )(2+)f - i)_y+(y2- X) —,

z

Z= (xz - y)—x+(yz+x)—y+%<1- X -y +7)—.

(1) ; p R, {X,Y,Z} R

(2) Lie [XVY],[Y,2Z.[Z X],
{X,Y,Z}

(3) U=R - {0}

F:U-> U; (uv,w = F(x,y, 2,
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Q = dx dx’
X=2. XX
(n-1)- IxQ:
ixQ(Yl, ,Yn-l) = Q(X,Yl, ,Yn-l),
(Yr, ,Yn1) n-1 . d(ixQ) .
4 4 Lie
X xX(M), y' ()= X(y (1)),
v: |- M.
1 p M, l,,0 Ip

Ye: b > M ye(0)=p
ye(t) = X(ye(0)), " T lo;
Ye p M. , @ (p) =ys (1),
b t+t b Qu+y =@y @y .
¢ X (
), X o M
1 (abo R . R

X(x) = ax —X1+bx _x2+ CX —Xg
yx(t) = (e"x',e"x°,e'X°) .

N p MIp O |:('€,€)
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¢ M QP =Q-1. Xp = X(P) -
f C (M),

_d
Xt = dtf((pt(p)) t=0

F M- M ,q=F(p), F P M
1LXf:Xf’ f COO(M)
2 Ot X Fr M- M
. F X Fo F' M
f C (M),

(F Xo)af = Xe(f F),

(F« Xp)af= dgtf Fle(p)|,_,

_d .
= 3f(F o0 F (a)eo .

f X% Fo F' g . Fo F°
, JF- X F e F' M

4.6
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M Yo , ((Pt_l)* Y(pt(p)
T. M (  486).
1 (@) Vo) Y p
Lie LY .
1 LeY=[X, Y] =adx.
f D ,
(LYo f= L@ ) Yo ) f
dt t
) ((Pt_l)* Yth(p) f - Yof
= |Iim
t-0 t
Y(pt(p)(f (ptl) - Ypf
= thrcp t '

f o (p)=f ¢-«(p)

() o, gl 0P

f(p) + th(p),

ds

u= st

JOE e o-«(p)| s

_d
= L o ()|

= - pr,

(LxY)pf =

Yoo f - Yof
lim —2 e 1imYe (» h
t-0 t t.o !

Xo (YT) = Yo( XF)
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= [ X, Y] f,
2 ) (M), Lie Lxtw
(L) (Y) = Lx(a(Y)) - o( LxY),
X Y :
X, , X X(M) ;
; M N ToN=span{ Xi|s}(p N) 2
k=1 1 : ,

, (X, X«) :
[ X, X]e ToN.

K
[Xi,Xj]:ZGranm, 1< i,j< k.

Frobenius :
3 (X, X)( ) P M
, M N ToN=span{ X [»}(p N) .
Frobenius u
X, o, X F- : p U U k
N P N

TaeN = span{ X |«}, g N.

Frobenius :
Frobenius ( ) (o) 1-
w =20
(Fe)
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Frobenius

w= Pdx+ Qdy = 0.

Frobenius do=F F= Adx+ Bdy

w=0, Frobenius : (%, W),
(%, %) : f(x,y)=c
p(t) = (x(t), y(1)) . df(p)=0.
w(p) =0,
Px + Qy = 0.
(x,%) , C(x y)w=df, C(C- .- )

Frobenius
3 u=u(x,y),v=v(x,y)

_U+ B.v= G,
X

i Bv= G,
y
—V+ Au= G,
X

~+ Au= G,
y

A,AB,B,G,G,G,GC X,y
du= wdx+ wdy,
B= Bdx+ Bdy,
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A= Adx+ Ady,
R= CGdx+ Cdy,
W= Gdx+ Gdy.

du+ Bv= R,
dv+ Au= W.

w = du+ Bv - R,

w=dv+ Au- W.
w = U,
W =
(X, y,u,v)
Frobenius :
dor W W=
dor w w=
A, B,RW

0o O Q2 o0 o Q& o o 9 o o
T > =W > =0>=TW
I
©O OO OO0 OO0 OO0 OO0

S =S g0 P gw > >
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W dR= 0.

dwx: = dBv - B dv- dR,
dowx = dAu - A  du- dw.

S A
X y
BB _4
X y
L S,5c-BC=o0,
X y
L Siac-AC=0
X y
, E Cartan Frobenius
: (S.S.Chern), P .Griffiths,
R Bryant .
1 R
X = y—X- X—y
YRSV
LxY .
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X

Lxdf = dLxf .
3. U VR ,fC (U), X,Y x(U),
dLX f(x), adX " Y(x)
= Z (- 1)'CLY" dLX' f(x), adkY(x)
0
mk N .
4. R" 2-
w=dei dx™" .
R .
(1) D ()" @' n
(2) R X, 1-
IxW)
(A)X(Y) = (JO( X;Y)l
Y R . : d(wx) =0
Lxw =0 .
(3) Xowx  xX(R") 'R
(4) f C(R"), df X i
df=wxf
5. R-{0} |,
w=-ydx+ xdy= 0.
6. R
w= Pdx+ Qdy+ Rdz= 0.
7. R |,

U, r
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y=-x+(@L-% - ¥y,

8. R-{0} ,
X= (X +Vy)'?2Xy -3X - y),
y= (X +Yy) " (10xy - 6XY).

9. R
W= [¥ - (X)]dX + X ¥d¥ + d¥ = 0,
w = fdx + gdx* = 0.

f.g C(R)

(1) =1, g
(2) f=g=2
3) f.g

10. (abc R . R
w=[X - (X) - X¥]d¢ d¥ -d¢ d¥+d¥ d¥ =0.

X = a, X =bt, X =



: ( )
R ,
(X % %) dx dx¥X dx
T ' dt’ dt’' dt ’
dz dZ d7
(Zl'i’i) dt ' dt’ dt
dX _ X dZ o
dt = Z dt’ =123
_dx
T= dt
n ( )
51
1 (m, k) T
(X, ,X) (Tt i) , X =
Xi(Zl, 1zn)
| | r r Xll le ZS]_ Zsk
T = Tq 5 1 Jm e (1)
(Te i) (Z, ,7) i, j,r,s
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11 1n ’ il;

1, ,n (= (, i) (De=(R, 4 Jx)

dx=—z,dz,dz=?dx,
(m, k) T
T= T p ! .'x.mu'dxil:' i dxk
1 n 1
(1)
(X, .,X)
T= (T'll1 IJ’E)
T=(Tor) .
1 . f: R°SR , (X, X, X)

(2,Z2,2)
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(1) T=(THy), (Dm  (i)m
(P« (J)« , (m, k)
T=(Thr),

(2) ()
Z Ty 5=V 'k = TR
(m-1,k-1) T. ., T=(T) (1,1)
., T=trT=T; trT .
(3) ( Kronecker ) T=(THm)
(m, k) ,S=(5(!u) (t,s) :
T St = M 1 g
(m+t,k+9 M= (MGG .
(4) ( ) (N,g) .
g=(9i),
é(lf)n;l = g TH
(m-1, k+1) S,
(¢")=(ag) ",
N(];)kl — gjtT(tji:)Lmjk-l
(m+1,k-1) A,
1. : (1) (0,2)

(2) (m, k)
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AT+puS = U= (Ufjm),
A R, T=(Ty),S=(8)0),
Uthn = AT + p S,

(m, k) n( m+ k)
2. k- (0, K)
3.
0, (i, i)
g, = +1, (i, i) (1, ,n)
-1, (b, ,ih) (1, ,n)
T=(T)
tr(T = T .
T'e'l etdier T T tr(T)eil o
4 . R’
52 Lie
M n & x(M). & M
Fo,t 1=(-¢g,) (X, ,X)
€ F=Xx F,
E-—(Ft) o, i=12 n
(%, ,%) p M : | t , F

(X (t, %), ,X(t»)),

Fo(x, ,%)-(x(t,%, ,%), ,X(t,x, ,%)).
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X(t,x, ,X)=x+&(x)t+ O(t), (1)
Xi — xi jl_
- =3 + t——+ O(f 2
X(]) J )é) ( ) ( )
X | i
2 =8 -t 0f) (3)
T (mKk) , (x) (Tr) .
1
* i t ot Xrl Xrn )61 X(I)m
(Ft T)EJ))T = Trll " Xj)l X%k X1 X'm
T (%)
2 (Tm) & Lie
LZTEJI))k (Ft T)EIJ))k
(2) (3)
* i tm r I’ 'k
(F = T im0 83+ t5- v 1R
i §i1 [ i_
x Od -t om - + O(f
9 vl X) ()
( Er
= T(])m(t X) + t TTIZ ]k )Qj)l +
i) Er ri im "1
+ T(J'l r X%k - T(J'z)k % -
- T, AT o),
T(')
(i) (i) ), & (i), &'
L‘ET(J)k =& Sk Mo ko y + + TJl ™ yk
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- T(Ijz)klm % - - T(ili)kiml jx_rrn’ (4)
t=0 X =x( (1) )
1 T=f ,
Lf=g = o
2 T=(T) ,
i T o &
LT =¢ ” T g
g =T & g T
X X
LTEi:_L‘ETiv [E!ﬂ_ [TE]
3 T=(Tij) (0,2) )
L£T|]—ES_TL+ Tr]j_r-‘l‘ -I-irjljE Uj.
X X
Ui (strain tensor) .
Tij:6ij ,
PR S &
X' X
3 w=(T, i) (0,k) It , s
Ti1 g i = 7 PR PO P
w k
w= Til ikdXil dXik.
4 9=(6i) , |gl=det(gi), (M, 9)

| gldx dX' = | gl |,
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L( |gl, )= |gl&
+ | g]| &x, inii_+ + €
Xl
O, (il, 1i“)
g, = +1, (i, i) (1,
-1, (b, ) (1,
A" (gx) :
g" = A"(lgl)
_lal__. |
N =€y i Xk(gl.l
- Aim gim
Xk
=lglg"—F
L( [aley, i,)= |9ley i, &
= |g|€'l i Ek
(d")=(gi) ",

im k L im i m
tro(Un) = g"un = 28 g —2

, N)
, N)

1

G )
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53
_ A m
LC Tgle, )= 59 un | gle,
_ 1 , o
= Stra(un) | gley o, -
1. 1 2
L(fT) = fLT +Lf T.
2. T, R,
L(TT R) = LTi R+Ti LR.
3. W,
(o ) = Low e +w Lw: .
53 ;
: : (0,2)
( ) (0, k) (k,0)
1 (0,2) T=(Ti) Ty = T,
; T
2 (0,k) T=(Ti1 ik)
T:(Ti1 ik) T:(Ti1 ik)
(k 0)
(gi) ; k-
(0, K , (0, K
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[i1]

(M, 9g)

Mk AX(M) .

A:(Aij), Qij:%(Aij‘FAji)

A =Amn, Q=Q .
Bi = é%(/Au - Ai) = A

Aiq = - A,
Bij = - Bji .
A = Qi + By .
(1,1) (2,0)

(0,2)

g= gidxdx,
| gf=|det(gi) |,
(d) = ()",

sgn(g) = sgn(det(gi)) .

T= Til ikdXil Xmk
Hodge
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(* Ty, . =7~ |gle, i Tt 'k,

_ 1
"1 'n (k!)

T '« = giljl gikjij1 i
1 R
w = Adx+ Bdy+ Cdz,

*w= Ady dz+ Bdz dx+ Cdx dy

T Ww.
2 R,
g=dxX + dy + dZ + dw
2-

R=dx dz-dy dw, T=dy dz+ dx dw

g=df - d¥X,

sgn(g) = -1.
€1 = -€10 = 1.

*dt = gOiEijde = dx

*dx = g“sijdxj dt.
k- , d.
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4 T k
(dT), o, = é (- 1) et
) X
A im .
: :ddT=0.
k- , )
5 = (- )" xgx
k- T, (k-1)-
3" =0
Hodge-Laplace
A =0 d+d o .
A= (d+3)* .
5 k- T AT=0, T
k -
4 R t=x , Lorentz
g=- (dX)® + (dx ) + (dX)® + (dx)?,
Maxwell
divE= 4mp,

curl B - _tE= 4t j,

divB= 0,

curl E + _tB= 0.

E= (BE,B,B) = ,
B= (B, B, B) =

oT.
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53
p= ’
)= (irvjey o) =
0 E E
- EB 0 - B B
Qup =
- B B 0 - B
- B - B B 0
2 -
Q= QpdX dxX .
J=pdX + jdxX + dX + jpdX .
, Maxwell
dQ =0, 8Q = 41J.
T=(THm), dT
2 :
R’ T:(T')
T T (%) Z=2(x)
( (2 ), T (2 T
le TlJ ’
| Zs XI ZS X'
T :
T=T-2% T=T-%5,
Z X
= X Z
z Zk X
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_ I +_ _Z
B4 T y4 '
__Tt_Tk X > 7 X"
-7 Z X Xn Z
FL—- XIk iim X

t
Z X -5t= const,
X Z
O= t Zm' S
zZ X Z
i 2 _t m
_ X Z X
Zk XI Xm Zsa
Zt 2Xm
rt = - m s *
© X" Z z (*)
6 T (T), T
DT
i T| i m
T;J - _Z'+ rij ,
[ i Z =7 (x) (*)
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5.3 135
Christoffel
1. T k , :
*(*T)=(-1)""sgn(g) T.
2. T (y) (T), (y)
(T)
DT = T'1=_y-l+r:ni' T"
)y =Y r,2Z, _Z
T2 Yy Yy
(2) Tw=Tm - im
3) f :
Di(fT) = fT + fD;T .
3.
*A=A*
4 . R, 3 2- P,Q Q,
*P=-P,*Q=-0Q,*Q=-Q,
2 RS T A (R
5. C
1 0
(zw) = z 1 O
w -2z 1
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(1) H* ( )
Z—> 2+ a
W wW-az+b
(2) 1- dz dw+ zdz.
d$ = | dz|? +| dw+ zdz|?,
d§ H’
(3) (zw) H,
z= x+ -1y, w= u+ -1y,
X +y +2u=0.
du= - xdx - ydy.
n' = dx,n® = dy,n’ = dv+ xdy - ydx,
ds =)+ M) +0).
(4) ") :
6. M S . dg
d$ =6: +6;, (6: 8.) d$
. = 6: 921,
M. =06 0.2,

H = {(z,w) C*: | z|”+ w+ w= 0} .

012 = - 921,
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@D = KO: 0. .
TM( M ) . T M

%(ei +0% +0%)

V\Azéel,\l\lz:%ez,\/\éz-%elz.

(wi)
7. 4 Maxwell Q J
(X, %) . Maxwell
54
M n , T'(M) M (1,1)
, x(M) M :
Leibniz D: x(M)= T (M)
Lelbniz ,

D(fX) = dfi X+ fDX
f C (M) X x(M)

[ _ P — P < k
(x) ,X=X e DX Xk)(ldx.
v T}M,V:V'jz‘p,
DiX= DX,V | = VX«
p X p

D = D— D . [ (

Christoffel )
D— =TI
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: Leibniz

DX= D X" =+ X D 7

k .
= ij + XT3 5
X
D X X =dx (D X) = Xi+x1rh-.
A:(rlk)
AX = XTh —
k
X = & —,
X X
D= i+ A
A
Yang-Mills ( Maxwell :
Maxwell ) . D Yang-Mills
: (M),
( ) -
Lie , (m, ) T DT. DT
(m, 1+1) : , m=2,1=1, T=(T).
1 (2,1) T= T DT
DnTk = Tékm = N iFkm + T tm + Tl im .

, Lie

(M,g9) ,9=(gi),Levi-Civita :



- 139

D«
Dkgi = O
Fijk:FL;, 1< i, j; k< n,
D« . L evi-Civita
y M Dl
(M)
D«gi = O r}k - rliq' . (1)
, (x)
i g g g9
[ i %g” lek + lel - X'k - (2)
D (1) , (1)
I’}kz FL;
—gi‘ik' = igm + T jkgim .
[k = rimkgmj,
ri,jk = ri,kj
Mk + Tk = _g-lli- . (3)
X
(3) i, k
—gﬁ =i +Tig . (4)

XJ



140 5

J;';L =Tk +T ki (5)

(4) + (5) - (3) = A «ij,

M = % ?(kji + ?(I? - ?(IQ = Gl i .
g’ gim =0 m
Fik = g™ mix .
(2)
(2) (M) :
(1) . (2)
(M, 9) ,D Levi-Civita
M’ (Z)
Z2=2(1) M E'=d—ztl. T=(T)
Z( 1) , z( 1)
Do T =8 (DT .
Z('t)
Dy T = 0,
T=(T) z( 1)
dthk+rhT‘dd—zt'=o, "t, 1< k< n. (6)
2 T, oM, z(t) b q
T T(P =T, T(aq) To
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3 Tk:% z( 1) (T z(1)
z(t) (M,g
(6)
2 i j Kk
C(Ijt22+rlki(2)d?zt%:0, "t 1< i< n. (7)
d
, 2, E=45. k(=D&
z(t) .k = (ko)
_dZ . dZ dZ
o = Tge T T gt
D«Di - DD« .
T=(T) M ,
DT = —L+ 774
Z
DD/ T = ?DlTi + DT -ThD, T
- _T| m, i My i i—m
= K i+Trm + DITT mk - DnTT 1k
Z
= szi+ Tkr‘m.+Tm—zk(r‘m.)

+ DITT we- DnTT & .

DTT mk- DnTT & =

T"

—T e + TT AT e
.
z‘n ]

(DD - DD T =T ?r‘n- —erik + T MM - T A
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=T Rim ,
Ru = _krin - —le'ik+rr”|“rimk ST A
4 (8) (Ru)
Rjv = O» ngl ,
qu = - qukl, qul = Rldiq .
(2) (8) Bianchi
Riqld + R.qk + Rqu =0.
= 1 ! + Z_qu ) ° g i Z_qu
| 2 77 Z z 7 zZ 7
+ Qi Fé“krr’%. - F;’?F Mok
(Rix) (0,4) , (9)

5 T.=(T) T=(T) (2,0)
R(L, &) = TT: Ru

& n& n =9g€.&)an.n) - g€.n)° .
(9)
R(T., %) = R(T:, o) .
T.=T=¢ n, &N : & n

REnN)=RE n.& ny & ng n
quzquil

(M,g) Ricci ( ),
R = glq Ra = quR(iqil

(8)

(9)
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(M, Q) ( ) , scalar
Bianchi
(})]! = rerZ
Q = dwi - k.
Q=+ —Ti - —TL+Mah -TiCy dZ dZ,
2 7 Vi
i l i
Qj = 2 Rjr|er di .
k
wj = gwwi,
1_
Qi = giink
2_
Qi = lRijner le .
2
Q=dwn-0 o
AQ=w QO-Q0 w.
Bianchi
©®) 1- () 2- (Q)
()
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Q}: J!'(JL);< Wk .

(M, 9)
, Einstein

qu - %Rgm = -)\Tq|,Dj(gjkai) = O’

(qu) ! )\ (Mig)
qu =0
Einstein , ,
R}ikl = O,
6 Einstain Kahler (
) Calabi-Yau
Calabi-Y au ,
Einstan
Einstein
1 Schwarzchild
-1
9= 1'2M dt + 1-27'\/' dr + P (d9° + sifed?),
(r8g) R >0
2 Eguchi—Hanson
1-
Bx = xdt - tdx+ ydz- zdy,

By = ydt- tdy+ zdx - xdz,
0. zdt - tdz+ xdy - ydx .

4 -1 4

g= 1 - 2 daf +r % +0%+ 1 - Ta 0 |
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a>0
3 Robinson-T rautman

g= 5 (d¥ + dy) + 2dudr + %xduz,

F=xX+y .
4 Taub-NUT

g= V(dX +dy +dZ) + V' (dt+w)’,
w A(R) 1-

= *dV,
v= 1+ 2,
h
m> 0 ,
r= X+ y+ 7.
1. (M,9) , R 2 (M, 9)

z=f(x,y) Df(x,y)=0

2. (M,0Q) . (x)
g= gdxdx,(d) = (g) ,|gl=det(g),
Christoffel Mk .

[ = log | g],

Xk

Dn =0,



146 5
n= |gldx dx' .
3. u C (Q,R) det(u;) =1,
U = xizuxj’ R" . g = U, ik, Ricci  scalar
4. ®) 1, 2 3
1- 2-
5. (M,q) (x)
g= g;dxXdx,
( R ), RicCi (Ri) .
(d") = (g) " .
f C(M). RxM
g= €'df + g,
g
Rat = Ra ,
R« = 0,
Rioj = € (DD;f - DifD;f) .
Ricci
Ry = e'(a f-|Df|) 0
0 R, + DD;f - DfD;f
af=—2—(d gl if).
| g
6. (M,g) (x)

X=ZX"?
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54
h=19l""g
(1)
_ -Un ; j
Lxh—lgl Lxg - nDng
(2)
T=]g|" "Lxh =(T”-),
a:XaidXi, a = UXJ 5a_ze| i,
Ti = Dig + Djai+—n6agij.
7 R
R' |,
u= u(x, ,X)
(X, ,X)
= —5(dx)” +
du=—)l(fdx+ + ;dx”
0. Frobenius
(1)
X = T + + ;
X X
0.

(2) n=3, s=(X - XY (X -X).
B= B(s), C= C(9 A
g=- A’@dX) + B (dx) + CB *(dX)’
(A, B, C) ;

BC
s(1-9°

A= -

A= A(s),

(A)
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_ _ AC
B =- g ' (B)
_ _ AB
c=-771 (C)
(3) (A, BC (A),(B),(C) .
2 R
A-B-C-=- 4
8. (Mg . (X)
g= gidxdx,
(qul),RiCCi (Rik) scalar R.
(d') = (g1) .
f C (M), M
g=¢€'g.
f (Raw ), (Ri) R g
Riqgu , Ricci Ri scal ar R.
55
. (Nn+d’g)
®")=@©, 8"
N .
(e) = (&, &)
gAB:6AB

1< A/B,C,D, < n+d
l<afp, =< d
1< i,j,k I, < n.
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®*=0°

We

A B
Ws = - Wa,

s = dwe - We

A
eD
Wes
Oo ,
F: M- N""°
M
] d!

= %Kécoec
KéCD: - KQDC .
Oa= GA,
Was = gEBWE,
@ne = gEBCDE\,
Keaco = Qea Kseo .
B~ = 0. Wea ,
Wea = - Was ,
Dae = dWaes - Wac
= %KABCDGC
Kasco = - Keanc .
M" n
Nﬂ+d
8°=0, a=1,
F(M) .
d° = 0,
wi 8 =0,
Cartan
w = Be', H =
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M
®=0 w,
Vvli = - W'Jy
= dw - W wi
_ A o ax I
=75 R0 0,
R’jkl = - R’jlk .
Qij = gijim,
Riv = Omi R?ﬂ(l .
di = ej Wi ,
Wi = - Wi,
Qij = dWij - Winm Whnj
- %Kijklek 6.,
Kijkl = - Kjikl .
LR 0 =- HiHe* o + LKk o',
2 2
1 Nk I (e k [ 1 Ak [
5 RO 0 = - I'ﬂkhne 0 + 5 K;ikO 0 .
, Gauss

Rik = Kix + hxhi - Hihic .
, Codazzi
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55
M Rn+d
_ M
F(M), R™® KM |
M KM . (X, ,X)
F=—"b.  (F) M
2
F
Fi = N
X X
M
g = F,F
(9) 1 M Levi-
Civita D
M = %gll ?(ljk + g(h'l )
(d') = ()" .
X=X —7,
X
i :
DX = =5 +TixX —.
D.XJ:—XXi+r%kxk. (*)
y 1_ w:Ejde1
DEjZ%-ri?Ek. (*)
D« F; = DFk Fi =rJ!k Fi R

—?(%2 Fi,  + Pk, K
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DiFi =T kFi,
DiFi = Fy,FR dFi.
DiFi  Fg M
D«F; = (Fq)' .

5.1

Gauss
F = D«F; + H(j\)a,

R = Fq,Va
,hg = Hi
= Hv.dXdx
M
H = g hva
M
Gauss :

(Fk,Fj) = ij - Dij
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AF

H = gkj(ij - rikjFi) .

H = gkj(ij - Fy, F g“Fi)Z (gkijj)N.
gkj Fu M

AF=

AF= (AF, AFY.

AF= —L1— ( |gld'F).
| g

i il

@’ =- dd" «gm

(log | gl) =T,

9" =-dg" ign.
(log | gl)dF + ig"Fi + d'Fi
rsg'Fi - gg" gnFi + d Fy

gijFij + Fikkg” Fi - g”gjm igIij
gij(Fij - Fif Fk)

H .
H=0, AF =0,A=1, ,n+d,
F , F=const .
F: M- R R"™ ¢
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, M, ,H=0, F
const .
2 , : Mo R,
A = Di(dg'Di )= ¢ DD
A DiD;
Di = ;. D«g’ =0
DD, =Di ;= —-T# «.
X
1 ,
A=d —-TH
= ¢ DiD;
2 |
M (X, ,x) :
g =di, Ii=
1. R
u= u(x, ,X)
(X, ,x)
M= z=(xy R":
R g=dZ . M (R"", Q)
2. 1 u M

u ? ?

y = u(x)

(*)
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3 R
u= u(x, ,Xx)
(X, ,X)
M= z=(x,y) R": y= ux
R™' g=e?dZ. M (R"', Q)
4 U R :
u U - R
(X, ,X)
M(u = z=(x,y) R": y=ux),x U
R g=dZ . M(uy (R"',0Q) =0.
A(u)  M(u)
f:U- R, f(x)=ulx), X U .
A( f) M( )
A(U) < A(f) .
5.
S= (x,94,v) R: X+y+uU+V =1
S

6. 1 , AF F (M)
7. M" n . F: Mo N™¢ .
M N

Codazzi

56
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(M, ) . (@, 8) M

D=0 w,
VVJI: - M’
Q= dw - W W
= %ijek 6'
1 (M, g) K ,
Q =K 6
M . .M K .
2 M" , f: S M

F: Sx[0,1] - M F(- ,0)=f F(- ,1)

3 M" :
4
: R" 0
M={x R': X >0}
1 2
= . dx
g (X)zl |
o' = Lax,
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VV% :6njei '6niej
wo=- w
® =0 w
Q =-0 o
(M, ) -1 M
Poincaré : : H'(-1) .
1 S 1
2. M K , ©®, 0) M
Rm = - K(aikéjl - 6i|6jk) .
3. B={x R': |x|<R}, K,
p(¥ =1+ L1 x|’
1
j - i .
900 =
R, (Br, Q) K
4. H'(-1)x S Ricci scalar
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57
® M" n- . M )
W M" (W, £) M
@ = fa'
Vo = fu' (W) .

supffa VWV« R".

W M"
J' W= Ua(kf(x
, M"
Stokes
Stokes M" , 0
M" n-1
[ ood o
(M, 9) , C(X,
M X=X

< |
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2

Stokes

givx = —4— X x_!g_l_l_
| 9
dw

dv, = | g|dx dx' .

u C(M), u M

( ): (M, g)

,N>2 . v M ,

do,

Af=0

J' _div Xdv, j‘ o X o,

J' udv,

M
i U
X=Au= gj?—x-,
gradu = A u,
Au= dvX.
(M, 0) : ( )
u C(M),
IMAudv91 MAu,v b, .
55 1

A(| F1272) = fAf+] gradf|® .
M=

n>
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oj’MA(|fV/m:1 |gradf |

|gradf|* =0, F = const .
1. U R ,
uuU - R
(X, ,X) .
M(u) = {z=(x,y) R": y=ux,x U}.
R g=dZ . M(u (R, Q)

H. A(u) M(u
f:Uu- R, f(x) =0, X u.
t R, A(t)=A(u+ tf) M(u+ tf)

g‘_
G~ ﬁo"ﬁ1qu-

2' (Mn1g) ' ,n>2.

I MLxmn@:-#¥£ CT(Xw)ds

_ pi~ . R
T = Ric ng.



Uu R . £€>0,b=(-£¢)

=1, n
fi(t,x) C(kx U),r= 1.
X U, 0>0 X vV U a Vv,
c*! Xa: b U, X(t) =X(t)=(x(1),
X (1))
%~ f(t,x), i=1, ,n
dt
X(0) =& X bx Vo U, X(t @) =x(1),
C
Uu R V R , F: Ux
Vo-R" C ,r>1. F(x,w)=0
F(x,»):R' - R
: % U: ) V1
h C(U:,R)
(1) F(x,h(x)) =0 X U .
(2) F(X,y) =0 (X, y) Ux Vi, y=h(x) .
(3) h(x =-[R(P]" K(P, p=(xh(x)),x U .
(M, 9 : . u C (M)

Au=0 M . u
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It requires wisdom to understand wisdom; the music is
nothing if the audience to deaf .

——Walter Lippman

Music washes away from the soul the dust of everyday life.

——AuerDach
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